“ RIVAL

POWERSPORTS

BRP/SSV Maverick X3,X3 MA

No.: 4447244 1 AL Rear bumper

Brend: BRP Can-Am

Model: SSV Maverick X3, X3 MAX (all models)
Year: 2017-

Material: Tube Al 38x3 mm

Content I

. Upper right-side tube............ 1 pc.
. Upper right-side tube............ 1 pc.
. Upper right-side tube............ 1 pc.
NSOt AUt MB.....cocmmmvvmsmmamins 2 pc.
A VINEMBX85 ez mmomvsmusinass 2 pc.
V1151 7 (55 o [ AN pm———— 2 pc.
Washer B:..casmwmssininion 2:pc.

©CONOORWN =

Installation Instructions

1. Unscrew two nuts from the vehicle frame as shown on pic.2
2. Loosen the bolts which are behind the rear lights as shown on pic.3 TOOLS REQUIRED

3. Mount the side tubes no.2, no.3 (pic.3)

4. Mount middle side tubes no.4, no.5 to the holes shown on pic.4 and then fix them using bolts M10x65 no.11,
washers no.12, nuts no.13. -

5. Installinsert nuts no.6 into the side tubes as shown on pic.1 S-18 S-4, S-5

6. Mount the bumper. Fix it to the upper side tubes no.2, no.3 using screws M8x35 no.7, washers no.10, nuts M8 TOOLS REQUIRED
no.14. Fix to the middle side tubes no.4, no.5 using screws M6x16 no.8, washers no.9, insert nuts M6 no.7. Fix lower

part of the bumper using original nuts. (AN O Al O A
7.Tighten all screws.

RIVAL4X4USA.COM




“ RIVAL

POWERSPORTS

Pic. 4

Pic. 3
RIVAL4X4USA.COM




	2444.7244.1_21_lg_Страница_1
	2444.7244.1_21_lg_Страница_2

